la 16 1B Ir 1n 3a 30 3r 3e 4a 40 4B 4e
" 1.8.00 POB POB POB POB POB POB POB POB POB POB POB POB POB
E 2 MaTeM npod. MaTeM MaTeM MaTeM MaTeM ¢busz-pa MaTeM MY3bIKa pyc.s3 pyc.s3 YTCHHE pyc.si3
§ 3 ¢pus-pa ¢pus-pa MYy3bIKa u30 u30 OKp.MHP pyc.s3 OKp.MHP pyc.s3 MaTeM YTCHHE pyc.s3 MaTeM
% 4 pyc.s3 pyc.s3 pyc.s3 pyc.s3 YTeHHE pyc.s3 MaTeM ¢busz-pa MaTeM YTCHHE MaTeM MYy3bIKa YTCHHE
= 5 OKP.MHD | OKp.MUpP | OKp.MHp | OKp.MHpP pyc.s3 u30 OKp.MHP pyc.s3 OKp.MHP MY3bIKa ¢pus-pa MaTeM npod.
1.8.00 YTeHUe YTeHUe YTeHUe YTeHUe YTeHUe YTeHUe YTEeHUE YTEeHUE YTEeHUE ¢usz-pa YTEeHUE YTEeHUE pyc.s3
= 2 pyc.s3 pyc.s3 npog. pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 aHTJLA3 YTECHHE pyc.s3 ¢pus-pa MaTeM
% 3 My3bIKa n30 pyc.s3 ¢busz-pa ¢usz-pa MaTeM MaTeM aHTJLA3 pyc.s3 MaTeM MaTeM pyc.s3 YTCHHE
M 4 MaTeM MaTeM MaTeM MaTeM MaTeM TpyQ aHTJLA3 MarTeM MaTeM pyc.sa3 ¢pus-pa MaTeM OKp.MHD
5 aHTILS3 TPy TPy TIOJI.UT. 130 OKD.MHp okp.mup | OPKCI
1.8.00 YTEHHE YTEeHUE YTEeHUE YTEeHUE pyc.s3 ¢busz-pa YTeHUE YTeHUE MaTeM OKp.MHUD YTEHHE YTEHUE ¢dusz-pa
2 pyc.a3 pyc.s3 pyc.s3 pyc.s3 pod. MaTeM huz-pa pyc.s3 ¢buz-pa aHIIL3 pycc.s3 pyc.s3 pyc.a3
% 3 ¢us-pa My3bIKa ¢us-pa TTOJI.HT. TIOJI.UT. pyc.s3 pyc.s3 MaTeM pyc.s3 MaTeM MaTeM aHTJLS3 MaTeM
& 4 MaTeM MaTeM MaTeM MaTeM MaTeM YTeHHE MaTeM u30 YTEeHHE ¢usz-pa aHIJLS3 MaTeM YTCHHE
5 OKp.MHUP OKp.MHUpP OKp.MHUp TpyQ OKp.MHUp OKp.MHp n30 OKp.MHp OKp.MHp pyc.s3 OPKCD npod. AHTIJL A3
6 HOJI.UT. npod.
1.8.00 YTEeHUE YTEeHUE YTEeHUE YTEeHUE YTEHHE YTEeHHE YTEHHE YTEHHE YTEHUE YTEHUE pycc.s3 YTEHUE OPKCH
2 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 AHIJLA3 pyc.s3 pyc.s3 MYy3bIKa pyc.s3 pyc.s3
% 3 130 ¢us-pa MOJ.HT. MYy3bIKa ¢huz-pa AHIJLA3 OKp.MHP pyc.A3 ¢yr.rpam | OPKCD MaTeM OKpYX OKP.MHp
5 4 (dhyH.rpam MaTeM TPYyQ ¢yn.rpam | ¢yH.rpam | pyH.rpam | aHTILA3 ¢huz-pa 130 TpyQ n30 OPKCH TEXH.
g 5 pod. ¢dyna.rpam | ¢yH.rpam npod. TpyQ My3bika | QyH.rpam | ¢yH.rpaMm | aHTILI3 | (yH.rpam pod. 130 130
6 MOJI.UT. - ¢yH.rpaM | QyH.Tpam
1.8.00 YTCHHUE YTEHHUE YTCHHUE YTEHHUE YTEHUE YTEHUE YTEHUE YTEHUE YTEHUE OKp.MHUD 4YTEHUE ¢usz-pa pyc.A3
2 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 pyc.s3 aHTJLSI3 pyc.s3 pyc.s3 ¢bus-pa
% 3 TOJI.HT. MOJI.HT. ¢bus-pa ¢bus-pa MYy3bIKa MaTeMm MaTeM MaTeM MaTeM MaTeM aHTJLSI3 MaTeM MaTeM
E 4 MaTeM MaTeM MaTeM MaTeM MaTeM ¢busz-pa npod MYy3bIKa TPyZX pyc.s3 OKp.MHP AHTJLSI3 YTEHHE
5 TPYyX TPyX N30 OKP.MHD | OKp.MHpP npod. MY3bIKa npod ¢bus-pa YTCHUE TPyR TPyR aHTJLA3
6 MOJ.UT - ¢dyH.TpaM




2a 20 2B 2r 2n 2e 3B 3n 4r 40
1 POB POB POB POB POB POB POB POB POB POB
S| 13.20
E 2 aHIJL53 pyc.s3 pyc.i3 npodg MaTeM MaTeM ¢puz-pa pyc.43 pyc.s3 pyc.s3
% 3 pyc.s3 aHIJLS3 MaTeM MaTeM pycc.s3 OKp.MUD npog. bus-pa MaTeM MaTeM
g 4 MaTeM MaTeMm aHTJL3 pyc. 513 YTEeHUE pyc.s3 MaTeM. MaTeM. ¢usz-pa OKp.MHUD
= 5 YTEeHUE YTeHUe OKp.MUD aHTJL3 130 npod pyc.s3 YTEeHUE YTEeHUE ¢usz-pa
6 pyc.s3
1 ¢bus-pa YTeHUe YTeHUe OKp.MHP MY3bIKa YTEHUE aHIJLS3 pyc.s3 MaTeM YTCHHE
y 13.20
= 2 pyc.s3 ¢pus-pa MaTeM MaTeM pycc.s3 My3bIKa OKp.MUD aHIJLA3 OKp.MHP ¢dusz-pa
§“ 3 My3bIKa pyc.s3 ¢bus-pa pyc. 43 MaTeM pyc.i3 MaTeM MaTeM. MYy3BbIKa pyc.s3
= 4 MaTeM MarTeM pyc.43 ¢busz-pa OKp.MHP MaTeM YTEHUE YTEHUE OPKCD MaTeM
) OKp.MHD Oxp.mup My3BIKa YTeHUE ¢busz-pa TPYA pyc.s3 OKp.MUD ¢byH.Tpam TPYA
¢dyH.Tpam
1 pod. YTeHUE pyc.s3 YTeHUE pycc.43 YTEeHHE YTEeHUE ¢puz-pa AHIJLA3 pod.
13.20
g 2 pyc.s3 pyc.si13 npog. MaTeM MaTeM MaTeM ¢pus-pa YTEHUE pyc.s3 aHIJLA3
g 3 MaTeM Matem MaTeM pyc.s3 AHIJLA3 pyc.s3 pyc.s3 npod MaTeM pyc.s3
> 4 YTEeHUE Oxp.mup YTEeHHE TpYyZX YTeH AHIJLA3 MaTeM. MaTeM. YTEHUE MaTeM
5 TPYA N30 TPYA ¢byH.Tpam TEXHOII U30 TPYA pyc.s3 TPYA YTEHUE
IIOJB.UT'PbI HOJI.UT. OKp.MHP
1 OKpP.MHDP pyc.s13 YTEHHE AHIJTLA3 npod ¢busz-pa MY3bIKa aHIJLA3 pyc.s3 YTEHUE
13.20
§ 2 pyc.s3 npod. aHTJLA3 OKp MUD ¢busz-pa YTEHUE aHTJI.A3 MaTeM ¢usz-pa My3bIKa
E 3 YTEHHE AHTJLSI3 pyc.s3 My3bIKa pycc.s3 pyc.s3 MaTeM pyc.s3 npog. pyc.s3
a3 4 aHTJILA3 My3bIKa ¢yH.Tpam pyc.s3 YTEHHE OKp.MHP pyc.s3 u30 MaTeM MaTeM
5 U30 YTEHHE OKp.MHP YTEHHE ¢byH.Tp ¢yH.rpam YTEHHE MY3bIKa YTEHUE u30
6 MO WT.
« 1 YTEeHHE pyc.s3 pyc.s3 ¢usz-pa OKp.MHP YTEHHE YTEHUE pyc.s3 pyc.s3 aHIJLA3
=] 13.20
E 2 pyc.43 MareM ¢usz-pa YTEHUE pycc.A3 MaTeM pyc.3 4YTEHUE AHIJLA3 OPKCD
= 3 MaTeM ¢pus-pa MaTeMm MaTeM MaTeM AHTJLA3 OKp.MHUD TIOJI. AT YTEHUE pyc.s3




duz-pa TPYA YTeHHE pyc.si3 aHIILA3 pyc.si3 ¢byH.rpam Tpyn OKp.MHP YTEHUE
¢dyH.Tpam ¢yH.Tpam n30 u30 YTEHHE ¢busz-pa u30 ¢byH.rpam. N30 OKp.MHP
[Mom.ur HOJL.UT HO/I. UTPBI TIOJI. T -




